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(92 47)%50] )

= 6% 6x3.14 x 2 = 226.08( cm?)
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T 9715 a9 2
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¥ ol o} a4 WX B ZolE olo} Pt




43. v 12 AS51A ol 971F Bgel ol &
ot Hu= 2 em?® YY7H?

.10cm « .
10cm /" K
1 1 \
~ 12cm
Pl !
P !
| I /
e i T A
| N
/‘./
/ ‘\ . .
D)258cm? @ 426cm? ® 684cm?
@ 942cm® ® 1200cm?

r
ins
é
l_ﬂ
odll

(AgmA 2] 2u)- (A E2] Zo]7t sem 9 97159
=10x10x12-5x5x3.14x 12

= 1200 — 942

= 258(cm?)

1=]
T

)




44.

YO §F2]F0] 4cm ©]21, =o]7F 8em ¢l Y7 FolA FAEHS
E2 PHoR 22 T FHFef £2Q JHoZ (E T
Blo] o] 2p= FutRlA] HokA] L

> £ cm?

> Heh: 13.76 cm?

SHES Bo BHoR A2 Tl : YA
= A} o] Yo]=8 x 8 = 64(cm?
FAF F2Qd JHoZ (2 b L TH Y

= YW 29 Yol
=4 x4x3.14 = 50.24( cm?)
wrakA] Yol o] 2k 64 — 50.24 = 13.76( cm?) AUt}




B

ol

-

ul




46.

» E Kl
> =g 8sA

2= :1x1=1

220% 1 2%x2=4
21=%:3x3=9
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